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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

(i1) Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

(itt)  Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

(iv)  Section C : Question Numbers 27 to 34 comprises of 8 questions of three marks
each.

(v)  Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

(vt)  There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.
SECTION A

Question numbers 1 to 20 carry 1 mark each.

Choose the correct option in question numbers 1 to 10.

1. In Figure-1, number of zeroes of the polynomial p(x), shown in the graph are
A y
p(x)
b.of %%—»x

A\ 4 yl

Figure-1
(A) 3
B 2
©) 1
(D) 4
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2. U UTH Sl Ush 91 %ehl S1dT & | Uk faum g A 6l Iifdiehar 2

A) 1
1
(B) 3
4
(C) A
(D) g
3. k%1 AW ek fou @fieRtor 8x — y + 8 = 0 997 6x + ky = — 16 HUTd! {@n3i
! = HL, B
1
A - 3
1
(B) 3
) 2
D) -2
4, Ife sin A = cos A, 0 <A <90° &, dl vl A ST 8
(A) 80°
(B)  60°
) 0°
(D)  45°
5. T o™ JAUCI 1 HA B &% o
(A)  3mr?
(B)  2mr?
C)  4mr?
D) §Rr3
6.  EHIR %@ 5,8, 11,..,47 I 3AaH UG H (JUH UG H AN) GHU 9 @
(A) 50
(B) 45
(C) 44
(D) 41
7. T 9uEY RIS sl SIS 1 AT 4: 9 7 | $ S o &A%l S T |
(A) 4:9
B) 2:3
(C) 81:16
(D) 16:81
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A dice is thrown once. The probability of getting an odd number is

A) 1
(B)

(©)

(D)

S o ok |-

The value of k for which the equations 3x —y + 8 = 0 and 6x + ky = — 16
represent coincident lines, is

1

A) - )
1
(B) 3
€ 2
(D) -2
If sin A =cos A, 0 <A <90° then the angle A is equal to
(A)  30°
(B) 60°
Cc) o°
(D)  45°
Total surface area of a solid hemisphere is
(A)  8mr?
B) 2m?
©)  4mr?
2_3

(D) gTEI‘
The second term from the end of the A.P. 5, 8, 11, ..., 47 is
(A) 50
(B) 45
(C) 44
D) 41

Sides of two similar triangles are in the ratio 4 :9. Areas of these
triangles are in the ratio

(A) 4:9
(B 2:3
(C) 81:16
(D) 16:81
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fe=n T 8 HCF (156, 78) = 78 B, a1 LCM (156, 78) %1 HIF &

(A) 156
(B) 178
(C) 156 x 78
(D) 156 x2
feema avftertor 2x2 — 4x + 3 = 0 &1 faferFet (discriminant) 8
(A) -8
(B) 10
(C) 8
(D) 242
AUAn

feama wfieRtr 2x% -~ 4x + 3 =0 % A &
(A) dTEdfaes qUl aer
(B) dr«fass aur =

(C) oTfaeh T8
(D) STt
faigati (- 1,-3) @1 (5, - 2) % == I gl B
(A) 61 THE
(B) /37 3HE
C) b53FE
(D) V17 THE

I97 G&IT 11 & 15 7 s &7 9Rw |
foreft amer foig & 99 W Wi 7 et et A awereat 2 & |
fgamd =1gug % — 16 < YIhi 1 AMTHA 2
%gaﬁ(-a,a)am(-a,-a)é;aﬂaa%zﬁ %l
H’FﬁEBTUTX2+bX+c=O?:FH§‘[W'§,?Jﬁ 3l
100 J&T0T ITA Teh 927 o W hH YR hl Q0T dT @ 37fereh Jehi <1 A0l
fag (58, 50) W U= L & | 38 A 1 AHAS =
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Given that HCF (156, 78) = 78, LCM (156, 78) is

(A) 156

(B) 78

(C) 156 x178
(D) 156 x 2

The discriminant of the quadratic equation 2x%—4x + 3 =0 is
(A) -8

(B) 10

©) 8

(D) 242
OR

Roots of the quadratic equation 2x%—4x +3 =0 are
(A) real and equal

(B) real and distinet

(C) not real

(D) real

The distance between the points (- 1, — 3) and (5, — 2) is
(A) /61 units

(B) /37 units

(C) 5units

(D) J17 units

Fill in the blanks in question numbers 11 to 15.

11.

12,
13.
14.
15.

The lengths of the tangents drawn from an external point to a circle are

In the quadratic polynomial t? — 16, sum of the zeroes is
The distance between the points (- a, a) and (—a, —a) is
The roots of the equation, x% + bx + ¢ = 0 are equal if

For a given distribution with 100 observations, the ‘less than’ ogive and
‘more than’ ogive intersect at (58, 50). The median of the distribution is

1.430/4/3] 7 P.T.O.
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16.

17.

18.
19.

20.

x-31& T 39 forg & e Fra hifve s fagai (2, 3) 1 (5, - 6) I Sfied
ITet TEREUE i 1 : 2% UG § farfora e 2 |

qfi % wk fog C ®, S W97 % urgfag @ 60 M. A g W 7, fR AB %
et &1 3T H0 30° B, I fb mwfa-2 § fommn w7 | fiAR i S=
I iR |

A

30°
B 60 H1. C

T2

HATHR 92 7,4, 1, - 2, ... 1 26491 4 fafEy |

APd-3 H, g O I g9 W Th i@ PT @i+ T = | Al
ZPOT =75° &, @ « OTP & |19 1d $ifSu |
P

STTHIT-3
ﬂﬁcosecﬂ:%%,?ﬁcot@'ﬂ%ﬁﬁﬁﬁ?l

ST
sin 42° — cos 48° ST HM T4 I |

RC LCRE]

T97 GEIT 21 G 26 TF JcdF G972 3FI T & |

21.

IfE tan 2A = cot (A — 18°) B, &I 2A AT (A — 18°) THI =d HIUT &, Al A Wl
= T I |
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Answer the following question numbers 16 to 20 :

16. Find the coordinates of the point on x-axis which divides the line segment
joining the points (2, 3) and (5, — 6) in the ratio 1 : 2.

17. The angle of elevation of the top of the tower AB from a point C on the
ground, which is 60 m away from the foot of the tower, is 30°, as shown in
Figure-2. Find the height of the tower.

A

30°
B 60 m C

Figure-2
18.  Write the 26 term of the AP. 7,4,1,—-2, ... .

19. In Figure-3, PT is tangent to a circle centred at O. Find the value of
Z OTP if £ POT = 75°.

P
T
Figure-3
20. If cosecO = g, find the value of cot 0.
OR
Find the value of sin 42° — cos 48°.

SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. If tan 2A = cot (A — 18°) where 2A and (A — 18°), both are acute angles,
find the value of A.

1.430/4/3] 9 P.T.O.
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St g | Fefafaa =1 ame o b wiikesar 3ma Hifs
(i) T T H A8
(i) 3 s
(iii) Teh AT

HAUAT
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22. The following table shows the ages of the patients admitted in a hospital

during a year :

Age (inyears): | 5—-15 | 156-25 | 256-35 | 35-45 | 45-55 | 556 - 65

Nu{nber of 60 110 210 230 150 50
patients :

Find the mode of the distribution.

23. Given that the HCF of two numbers is 11 and their LCM is 693. If one of
the numbers is 77, then find the other number.

24. A cylindrical bucket, 32 cm high and with radius of base 14 cm, is filled

completely with sand. Find the volume of the sand. (Use «t = %)

25. In Figure-4, A ABC and A XYZ are shown. If AB =3-8 cm, AC =3 V3 cm,
BC = 6 cm, XY = 63 cm, XZ =76 cm, YZ =12 cm and £ A = 65°,

Z B =70°, then find the value of £ Y.
A X

65°
3-8 ecm 343 cm 63 cm 7.6 cm

70°
B 6 cm C

Y 12 cm Z
Figure-4
OR
If the areas of two similar triangles are equal, show that they are
congruent.

26. How many two-digit numbers are divisible by 6 ?

OR
In an A P. it is given that common difference is 5 and sum of its first ten
terms is 75. Find the first term of the A.P.

SECTION C
Question numbers 27 to 34 carry 3 marks each.
27. One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting
(1) a king of red colour.
(ii)  the queen of diamonds.
(111) an ace.
OR

1.430/4/3] 11 P.T.O.
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A box contains 90 discs which are numbered from 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears

(1) a two-digit number.

(i1)  a perfect square number.

(iii)  a prime number less than 15.

28. Seema has a 10 m x 10 m kitchen garden attached to her kitchen. She
divides it into a 10 x 10 grid and wants to grow some vegetables and
herbs used in the kitchen. She puts some soil and manure in that and

sows a green chilly plant at A, a coriander plant at B and a tomato plant
at C.

Her friend Kusum visited the garden and praised the plants grown there.
She pointed out that they seem to be in a straight line. See the below
diagram carefully and answer the following questions :

10

 ~1 &  ©

1.430/4/3] 13 P.T.O.
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(i) 10 x 10 fire HI Frewe 1@ <d U, fogatl A, B @1 C & Fewrme Ima
T |

() gl g3 fopelt o1 g3 @ S92 A FHIY 6 w7z fog av
2 |

4 Gt Brsan w1 U g9 €Y | g @ 8 Wl i gt W Uk fog P osAfeRa

IR qe fog P & g9 W wRi-@n IW hi w1 T |

forg <hifvT o /3 weh smafe deTn 2 |
3pfd-5 H, 10 ¥t B3 At g 1 v a1 AB g T HHeRI ST 3 |

oy

STTHId-5
3 i
(i)  B=IEs (sector) OAPB T &:%al
(i) &g gaEE APB 1 &% (1 = 3-14 TN HIfT)

5 Uit dor 7 U1 1 He god T 250 B wfh 7 UfGe a1 5 Ul @1 Fe
T T 302 7 | T YA a1 T U4 1 Hod F1d HINT |
areran
Frefafea @ffeo gm =t a9 fafy & ga FHifm
x—-3y-7=0
3x —5y—-15=0

forg shifer fop

(cosec O — cot 9)2 = 1-cos®

1+cosH
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30.

31.

32.

33.
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(1) Write the coordinates of the points A, B and C taking the 10 x 10
grid as coordinate axes.

(i) By distance formula or some other formula, check whether the
points are collinear.

Draw a circle of radius 4 cm. Take a point P at a distance of 8 cm from
the centre and construct a pair of tangents from point P to the circle.

Prove that /3 is an irrational number.

In Figure-5, a chord AB of a circle of radius 10 cm subtends a right angle
\ B
L)

Figure-5

at the centre.

Find
(1) Area of sector OAPB

(i1)  Area of minor segment APB. (Use m = 3-14)

5 pencils and 7 pens together cost ¥ 250 whereas 7 pencils and 5 pens

together cost ¥ 302. Find the cost of one pencil and that of a pen.

OR

Solve the following pair of equations using cross-multiplication method :
x-3y-7=0
3x —5y—-15=0

Prove that :
1—-—cosH

(cosec O — cot 9)2 =
1+ cos 6

1.430/4/3] 15 P.T.O.
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34. In Figure-6, a circle is inscribed in a A ABC touching BC, CA and AB at

P, Q and R respectively. If AB =10 cm, AQ =7 cm, CQ =5 cm, find the
length of BC.

A

Figure-6
OR

In Figure-7, two tangents TP and TQ are drawn to a circle with centre O
from an external point T. Prove that £ PTQ =2 £ OPQ.

P

Q
Figure-7

SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. A bucket is in the form of a frustum of a cone of height 30 cm with the
radii of its lower and upper circular ends as 10 cm and 20 cm

respectively. Find the capacity of the bucket. (Use © = 3-14)
OR

Water in a canal 6 m wide and 1-5 m deep, is flowing with a speed of
10 knm/hr. How much area will it irrigate in 30 minutes if 4 cm of
standing water is needed ?

1.430/4/3] 17 P.T.O.
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T Ueed o Rt w36 H. S qfd ol 8 | W % e fog @ Hfd % R
1 IAIT HI0 60° 8 IR I g A Usted & R H1 IAI HI0 45° 7 |
USEeH i HTg T HIT |
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36.

37.

38.

39.

40.

Draw a ‘less than’ ogive for the following distribution :
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Class : 0-10110-20 |20-30(30-40[{40-50|50-60| 60—-70

Frequency : 8 5 7 14 18 6 2

A train travels 360 km at a uniform speed. If the speed had been 5 km/hr
more, it would have taken 1 hour less for the same journey. Find the
original speed of the train.

OR

Sum of the areas of two squares is 468 m?. If the difference of their
parameters is 24 m, find the sides of two squares.

Divide polynomial —x® + 8x%2 - 8x + 5 by the polynomial x% + x — 1 and
verify the division algorithm.
OR
Find other zeroes of the polynomial
px) = ox? —3x% _3x%2 1+ 6x -2
if two of its zeroes are +/2 and — 2.

A statue 3-6 m tall, stands on top of a pedestal. From a point on the
ground, the angle of elevation of the top of the statue is 60° and from the
same point, the angle of elevation of the top of the pedestal is 45°. Find
the height of the pedestal.

In a right-angled triangle, prove that the square of the hypotenuse is
equal to the sum of the squares of the remaining two sides.

[.430/4/3] 19



